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Closed Book Quiz.  You have exactly 30 minutes. 
Design and implement a class to represent a user-defined type for Employee. This class has four instance variables: name, salary, startingDate, expectedRetirementDate, leftDate, and 3 static variables: employeesJoined, employeesLeft, employeesRetired. Define:
· Appropriate instance/static variables, 

· Appropriate constructors (all-arguments, all-arguments except leftDate and copy constructor), 

· Appropriate accessor and mutator methods for the fields: name, salary and startingDate, 

· resign method (this method takes a date as input and assigns that to the instance variable leftDate and increments the counter employeesLeft by 1), 

· retire method (this method takes a date as input and assigns that to the instance variable leftDate and increments the counter employeesRetired by 1), 

· incrementSalary method (this method takes increment-percentage as input), 

· extendRetirementDate method (this method takes an integer as input and changes the year field of expectedRetirementDate). 

You are required to avoid privacy leak. You will be penalized otherwise. Assume that you have Date class with copy constructor.
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